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Chemistry 122
Organic Chemistry Reactions Review

For each of the following, write a complete structural and word equation. Identify
the type of reaction.

1. propane + bromine —* |-bremopropane + 2-bromeprepans 4 \,\Jdreger\ bromict€
«\Ow. ) i . ‘ ‘4*__ - - = “_, '\WC\—\ i -
S R - e S S S
LI {

Br L

2. benzene + chlorine —= chlovebenzene + hylregen chilaride
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3. ethane + iodine —> iodoethane + i\jdmgen icclicle
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4. 2-butene + hydrogen —= bLotanc
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5. 2-pentene + hydrogen chloride — 2“’5"“&«"“0{)@/“{0“@ + 3-chbropertane

‘ : P f ] [

N LI S R S S

C Ci

6. 1-hexene + fluorine —= (,2- difivecahexane
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7. 4-methyl-2-hexene + water (HOH) —% "-methyl- 2-hearal + "l-me\i\:\'\ -2~ hevanol
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8. 2-butyne + chlorine —= 2.3-dichlore- 2 -badene
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9. 4,4-dimethyl-2-pentyne + bromine —> 2% dibfaro-4,4 ~chimethy - 2- perdenc
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10. butanoic acid + ethanol —= e*klebmmk + woder
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11. propanoic acid + methanol —= methgl propancate + watet
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12. butanoic acid + 1-butanol — botyl hitaraede + water
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13. chloroethane + hydroxide ions —» ethenc + Chloride 4 uocttes

On
S Not \ ’ ,
S Ce-Co oM —= (=G LR Ho

@*‘9‘/

14. 2-bromobutane + hydroxide ions == (-butene + 2-budene B‘“Q‘g‘;jdf + wotey
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15. 2-butanol + HCl — \—\auﬂehc + 2-budene + waker + ‘\jo\fod\\cx\"(' acd
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